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QUESTION 1

An administrator incorrectly enters password information for the darwin_user account and locks the account. 

What procedure can be used to unlock the account? 

A. From the vSphere Web Client, browse to Administration > Access > SSO Users and Groups > Locked Users, right-
click on the darwin_user account and select Unlock. 

B. From the VMRC Console of the Application Services appliance, log in as the root user and enter: faillog -u
darwin_user -r 

C. From the Application Services Remote CLI, log in as the root user and enter: passwd -u darwin_user 

D. From the Application Services Web Interface, choose Administration from the drop down list and select Users, right-
click on the darwin_user account and select Unlock. 

Correct Answer: B 

 

QUESTION 2

A business group administrator is assigned to build three blueprints each with the same twenty custom properties. 

What would be the best approach to avoid mistakes with custom property entry? 

A. Create a build profile that includes the custom properties. 

B. Create a custom property macro that includes the custom properties. 

C. Create a property group that includes the custom properties. 

D. Create a property profile that includes the custom properties. 

Correct Answer: A 

 

QUESTION 3

An administrator creates a vRealize Automation virtual machine blueprint with the following resource parameters: 
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A user tries to launch a machine based on this blueprint with the following resource parameters: 

What is the immediate outcome of this attempt? 

A. The virtual machine fails to deploy. 

B. The virtual machine is deployed as configured. 

C. The virtual machine deployment awaits administrative approval. 

D. The virtual machine deploys with automatically adjusted parameters. 

Correct Answer: C 

 

QUESTION 4

Which three are valid infrastructure costs that can be configured by editing Cost Drivers in vRealize Business Standard?
(Choose three.) 

A. Operating System Licensing 

B. Storage (per GB) 

C. Network (per switch) 

D. Hardware Maintenance (per month) 

E. Memory (per GB) 

Correct Answer: ABD 

 

QUESTION 5

An administrator needs to create property definitions in the Property Dictionary. After clicking on Blueprints under the
Infrastructure tab, the administrator notices that the Property Dictionary menu isn\\'t visible. 

What is the issue? 

A. The administrator doesn\\'t have the Fabric Administrator role assigned. 

B. The administrator doesn\\'t have the Tenant Administrator role assigned. 

2V0-631 Practice Test | 2V0-631 Study Guide | 2V0-631 Exam Questions                                3 / 8

https://www.leads4pass.com/2v0-631.html
https://www.leads4pass.com/2v0-631.html
https://www.leads4pass.com/2v0-631.html


https://www.leads4pass.com/2v0-631.html
2024 Latest leads4pass 2V0-631 PDF and VCE dumps Download

C. The Property Dictionary is located under the Administration tab. 

D. The Property Dictionary is located in the Instance Types menu under the Infrastructure tab. 

Correct Answer: A 

 

QUESTION 6

To improve provisioning time of Clone workflows, the configured per-agent limit has been increased. However, many of
the workflows now fail. 

What action would resolve this? 

A. Add compute resources 

B. Increase the timeout interval 

C. Enable Fast Provisioning 

D. Increase the appliance RAM to 12GB 

Correct Answer: B 

 

QUESTION 7

Which two types of identity stores can be configured for a tenant? (Choose two.) 

A. Active Directory 

B. OpenLDAP 

C. vSphere Single Sign-On (SSO) 

D. Active Directory Lightweight Directory Services 

Correct Answer: AB 

 

QUESTION 8

An administrator needs to enable a cluster to be used by vRealize Automation. The cluster has the following
configuration: 
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Which change to the cluster must the administrator make? 

A. Enable HA. 

B. Add additional ESXi hosts to the cluster. 

C. Enable DRS. 

D. Create a resource pool. 

Correct Answer: C 

 

QUESTION 9

A user has been assigned the vRealize Business Standard Budget Management Controller role. 

Which two details can the user view in the Consumption List? (Choose two.) 

A. Monthly Budget 

B. Top Consumers 

C. Monthly Charge 

D. Consumed Capacity 

Correct Answer: AC 

 

QUESTION 10

What would prevent a system administrator from deleting a tenant? 

A. You must delete any business groups before deleting the tenant. 

B. Only the IaaS administrator can delete the tenant. 

C. The tenant must remove the identity stores. 
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D. Only Infrastructure administrator can delete the tenant. 

Correct Answer: A 

 

QUESTION 11

vRealize Automation uses vRealize Orchestrator endpoints to run what sort of workflows? 

A. Network and security-related workflows 

B. Allocation-based workflows 

C. Third-party cloud provider workflows 

D. vSphere cluster workflows 

Correct Answer: A 

 

QUESTION 12

Refer to the Exhibit. 

The system administrator is required to configure a User Search Base DN for users who reside in the Users OU shown
in the exhibit. 

Which Base DN meets the stated requirements? 

A. OU=Users,OU=VMware,dc=vmware,dc=local 

B. OU=Users,OU=VMware,dc=vmware.local 

C. CN=Users,OU=VMware,dc=vmware,dc=local 
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D. dc=vmware,dc=local,OU=VMware,OU=Users 

Correct Answer: A 

 

QUESTION 13

An administrator is troubleshooting IaaS components in a vRealize Automation deployment. 

Which two steps outline the process for generating a log bundle for these components? (Choose two.) 

A. Open the vRealize Appliance management console. 

B. Navigate to vRA Settings > Logs and click Create support bundle. 

C. Run the SupportBundleUtil.exe file. 

D. Select each component to collect log files and/or configuration files. 

Correct Answer: CD 

 

QUESTION 14

A tenant has requested a custom message in the vRealize Automation console. What role is required to make this
change? 

A. system administrator 

B. tenant administrator 

C. business group manager 

D. support user 

Correct Answer: B 

 

QUESTION 15

Which three actions should an administrator take before creating a vRealize Automation Business Group? (Choose
three.) 

A. Identify the Active Directory distribution groups for the users. 

B. Determine which users will be assigned the Business Group Manager role. 

C. Identify the Active Directory security groups for the users. 

D. Determine which Cost Profiles will be used for the users. 

E. Identify the Distinguished Name of Containers where the Users and Groups for the Tenant are located. 

Correct Answer: BCE 
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